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JEAZ | A/P | Tee | ZIEK4A NET | PHC [GROSS| OUT / I N | {§& NEALZ | A/P | Tee | BMEFRAL NET | PHC |GROSS| OUT / I N | f#&
1| +5 miE B 77| 6 | 83 | (39, 44 )| mH 1 | -5 /INFE PR 67 | 19 | 86 |( 42 , 44 )| mw
2 | +7 Vepl #F 79 | 12 | 91 | (39, 52 ) 2 | +2 +-Fq fEE 74 | 13 | 87 |( 42, 45 ) |uetEms
3 | +10 % NS 82 | 11| 93 | (47, 46 ) 3 | +3 NI 75 | 20 | 95 |( 50 , 45 )| 3fi
4 | +4 /NE B, 76 | 12| 88 | 41, 47 )
5 | +5 Vg 1B 77| 12| 89 [( 44 , 45 )
6 | +5 K 771 8 | 85 |( 40 , 45 )
7 | +7 AL #E— 79 | 20 [ 99 [( 49 , 50 )
8 | +8 & % 80 | 19| 99 [( 52 , 47 )
9 | +9 REM FE—FBEB | 81 | 20 [ 101|(C 51 , 50 )
10 | +12 @I FHHk 84 | 14 | 98 |( 45 , 53 )
11 | +23 354 == UGN 9 | 6 |101]|C 50 , 51 )
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JBAZ | A/P | Tee | BIEK4 NET | PHC [GROSS| OUT / I N | {§Z JEAL | A/P | Tee | BMEBFBKA NET | PHC |GROSS| OUT / I N | f#&
1| +2 B AT | T4 | 15| 89 | (44, 45 )| mms| | 1 | +4 THE 76 | 10 | 86 | ( 42 , 44 )| feh
2 | +5 I 77| 14| 91 [ (48, 43 ) 2 | +5 s — 77| 15 | 92 [( 47 , 45 ) |uepns
3 | +7 R AT 79 | 11| 90 | (43, 47 ) 3 | +5 ER 51 77 | 14 | 91 |( 43, 48 )
4 | +15 a1 87 | 20 | 107 |( 51, 56 ) 4 | +6 R REES 78 | 9 | 87 | ( 46 , 41 )
5 | +6 Y NBEE 78 | 11 89 | 41, 48 )
6 | +8 oA Bk 80 | 12 | 92 | 47 , 45 )
7 | +12 FoE 5E 841 9 [ 93 |(C 42, 51 )




